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WHAT DID THE ASYMPTOTE SAY TO
THE REMOVABLE DISCONTINUITY?
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Complete the table below for ().
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29) Give the right hand limit as x approaches =57 - 2

30 Give the left hand limit as x approaches 57 -2

31) For what integer value in the above table is f(x) continuous? /.

and when the x value Is (?), -2,

33) f(x) is not defined at the vertical asymptote x = (?). 2_
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a2y f(x) has a removable discontinuity (hole) when the x value is 3 R. 2
O
T
u

39 On the open interval (-5, 5), f(x) has (?) discontinuities. (-

-, 3 - s i i
DIOIN IR B INIDITR AT O Tl el e
9 122|132 4 171271 2 113 251101 28| 16 191231 1 {31] 6 |33

—llAINT LT HLo e T In el Tto
8

5 118|261 29} [F2{20l2al75l [ 3 113150t 31114l [34

3




